multiplication and division

name:

total: outof 50
fluency date:

0 5 X 70 10 28 7
1 7 x 7 70 7
2 8 x 35 7 14 7
3 x 42 42 7 7
4 x 77 1 7 7
5 X 0 7 7 8
6 63 = 7 49 35 7
7 x 70 4 1 7
8 84 = 7 56 7 9
9 7 = 7 12 7 42
10 x 28 7 21 7
11 49 = 7 14 7 7 84
12 7 x 21




multiplication and division

name:

fluency date: total: outof 50
0 0 5  x 35 70 10 28 7 x | 4
1 7 7 x 14 1 7 10 70 + 7
2 14 8 x 56 35 7 14 2 | x 7
3 21 6 | x 42 42 6 49 7 x 7
4 28 1M | x 77 77 1 7 7 = |1
5 35 0 | x 0 63 7 56 7 = 8
6 42 63 = 7 7 49 35 5 | x 7
7 49 10 | x 70 4 28 1 77 | =+ 7
8 56 84 = 12 7 56 63 7 = 9
9 63 7 = 7 84 12 7 6 | = a2
10 70 4 | x 28 7 21 21 3 | = 7
1 77 49 = 7 14 7 12 7 = 84
12 84 7 x 21




